

$$\textcircled{1} \quad \lim_{n \rightarrow \infty} \sqrt{3n} \cdot \frac{\sqrt{n^2-1} - \sqrt{n^2+4}}{\sqrt{2n+3} + \sqrt{n-1}} \cdot \frac{\sqrt{n^2-1} + \sqrt{n^2+4}}{\sqrt{n^2-1} + \sqrt{n^2+4}}$$

$$= \lim_{n \rightarrow \infty} \sqrt{3n} \cdot \frac{n^2-1 - n^2-4}{\sqrt{2n+3} + \sqrt{n-1}} \cdot \frac{1}{\sqrt{n^2-1} + \sqrt{n^2+4}}$$

$$= \lim_{n \rightarrow \infty} \frac{\sqrt{n}}{\sqrt{n}} \cdot \frac{\sqrt{3}}{\underbrace{\sqrt{2+3/n}}_{2+0 \text{ AL}} + \underbrace{\sqrt{1-1/n}}_{1-0 \text{ AL}}} \cdot \frac{n}{n} \cdot \frac{(-1/n - 1)}{\underbrace{\sqrt{1-1/n^2}}_{1-0 \text{ AL}} + \underbrace{\sqrt{1+1/n}}_{1+0 \text{ AL}}}$$

$$\underset{\text{AL}}{=} \frac{\sqrt{3}}{\sqrt{2+0} + \sqrt{1-0}} \cdot \frac{0-1}{\sqrt{1-0} + \sqrt{1+0}} = \frac{-\sqrt{3}}{2(\sqrt{2}+1)}$$

$$\textcircled{2} \quad \lim_{n \rightarrow \infty} \underbrace{\sqrt[4]{3^4 + 2^4 - \sin n + 2}}_{a_n} = 3$$

$$\sqrt[4]{3^4} \leq \sqrt[4]{3^4 + 2^4 - \underbrace{\sin n}_{-1}} + \underbrace{2}_{+2} \leq \sqrt[4]{3^4 + 2^4 - \sin n + 2} \leq \sqrt[4]{3^4 + 2^4 + 1 + 2} \leq \sqrt[4]{3^4 + 3^4 + 3^4} = \sqrt[4]{3 \cdot 3^4}$$

$$\lim_{n \rightarrow \infty} \sqrt[4]{3^4} = \lim_{n \rightarrow \infty} 3 = 3$$

$$\lim_{n \rightarrow \infty} \sqrt[4]{3 \cdot 3^4} = \lim_{n \rightarrow \infty} 3 \cdot \sqrt[4]{3} \stackrel{\text{AL}}{=} 3 \cdot 1$$

ze 2 policajtu $\lim_{n \rightarrow \infty} a_n = \underline{3}$

$$\lim_{n \rightarrow \infty} b_n = \lim_{n \rightarrow \infty} \frac{4^n}{4^n} \cdot \frac{\sqrt{n} + 4 - \frac{\log n}{4^n} + \frac{(-1)^n}{4^n}}{1 - \frac{n^3}{4^n} + \frac{\sqrt{n}}{4^n}}$$

$\frac{4^n}{4^n} \rightarrow 1$
 $\frac{\sqrt{n}}{4^n} \rightarrow 0$ (stăla)
 $\frac{\log n}{4^n} \rightarrow 0$ (stăla)
 $\frac{(-1)^n}{4^n} \rightarrow 0$ (om. aniz.)
 $\frac{n^3}{4^n} \rightarrow 0$ (stăla)
 $\frac{\sqrt{n}}{4^n} \rightarrow 0$ (stăla)

$$= \frac{0 + 4 - 0 + 0}{1 - 0 + 0} = 4$$

$$\lim_{n \rightarrow \infty} b_n = \lim_{n \rightarrow \infty} \frac{4^n}{4^n} \cdot \frac{\frac{\sqrt{n}}{4^n} + 4 - \frac{1}{4^n} + \frac{1}{4^n}}{1 - \frac{n^3}{4^n} + \frac{\sqrt{n}}{4^n}} \stackrel{AL}{=} \frac{0 + 4 - 0 + 0}{1 - 0 + 0} = 4$$

Table $\lim_{n \rightarrow \infty} a_n = \lim_{k \rightarrow \infty} (-1)^{2k} b_{2k} = 4$ X

$$\lim_{n \rightarrow \infty} a_{2n-1} = \lim_{n \rightarrow \infty} (-1)^{2n-1} b_{2n-1} = -4$$

Tedy $\lim_{n \rightarrow \infty} a_n \neq$ (byl by to spr. s jichozn. lim.
a lim. vybr. prsl.)

(4) (a) $\lim_{n \rightarrow \infty} (a_n + b_n) = 0 \xRightarrow{?} \{a_n - b_n\}$ je mezz.

Be. Protipřítelad $a_n = n$ $b_n = -n$

part $au - bu = 2u$

→ zFleime wenn.

(b) ~~Wasser~~ $\{a_n - b_n\}$ ist om. $\Rightarrow \lim_{n \rightarrow \infty} a_n + b_n = 0$

Ne. Proprietary

$$a_n = 3 \quad b_n = 2, \quad a_n + b_n = 5$$

$$\lim_{n \rightarrow \infty} a_n + b_n = 5$$